
Temperaturgang A Uo=2.8V Step 2 Los Datum   

X: Limit gemäss
Datenblatt ≤limit >limit

  ±11.2mV  [1.14º∟]      10mV   [1.0º∟]   2mV  [0.2º∟]  23mV [2.4º∟] 12 12
  ±  5.6mV  [0.57º∟]      6mV   [0.6º∟]   1mV  [0.1º∟]  14mV [1.4º∟] 10 14
  0              [0º∟]     -1mV   [-0.1º∟]   0mV  [0º∟]   -2mV [0.2º∟] 24 0
  ±  5.6mV  [0.57º∟]     -7mV   [-0.7º∟]   1mV  [0.1º∟]  -15mV[1.5º∟] 11 13

Y: Limit gemäss
Datenblatt ≤limit >limit

  ±11.2mV  [1.14º∟]      6mV   [0.6º∟]   0mV  [0º∟]  14mV [1.4º∟] 21 3
  ±  5.6mV  [0.57º∟]      4mV   [0.4º∟]  ±1mV [0.1º∟]    8mV [0.8º∟] 18 6
  0              [0º∟]     -1mV   [-0.1º∟]   0mV  [0º∟]  -9mV [0.9º∟] 23 1
  ±  5.6mV  [0.57º∟]     -6mV   [-0.6º∟]  -1mV  [0.1º∟]  -16mV[1.6º∟] 12 12

 Referenz 5 º∟ ≡   49 mV  Massstab 1 º∟ ≡   9.8 mV
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